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PART C — (5 » 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not excesd 600 words,

(a)

(b)

(a)

(b)

(b)

(a)
()
(a)

(k)

Differentiate the prokaryotic and Eukaryotic
cell.
Or

fxplain the structure and application of
Electron microscope.
Hxplain the stages of Kreb's cycle.
Or !
Explain the structure and funciions of
Ribosomes.
Describe the structure of Giant chromosome.
Or
Degeribe the structure and function of
nucleus.
Hxplain the DNA replication.
Or
Eixplain lac operon.
Explain Mitotic cell division.
Or

Explain polymorphism of iysosomes,
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PART A — (10 = 1 = 10 marks)

Answer ALL questions.

Time . Three hours

Choose the correct answer :

1. Which of the following is absent in prokaryotic
cell?
(a) plasmid
() cell membrane
(¢) nuclear membrane
(dy ribosome

2. ALl the followings are components of compounc
neroscope except
(a) stage clips {hy fine adjustment

(¢) eye piece (d) electron gun
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10.

Protein synthetie factories of the cell

{n) Hibosome () Golgi bodies

(c) Nucleus (d)y Lysosome

Respirvatory centre of the cells ave

{a) Lungs (by Nucleus

(¢} Mitochondrin (d) Hibosomes

Enzyme used to join DNA fragments

(a) DNA Ligase (h) polymerases

(c) Nucleases (d) Lipase

In RNA thymine 1s replaced by

(a) Adenine (by Guanine

(c) Cytosine (dy Uraeil

Nucleus fivat discovered by

{a) Robert Hook (b} Robert Cliv

(¢) Robert Merin {d) Robert Brown

Autosomes of human cell 1s

(a) 44 (b) 46

(c) 48 dy 42

Crossing over takes place in the following stag

(ay Leptotene (b) Pachytenc

(e} Zygotene (d) Diplotene

Suieidal bags of the cells are

(a} Ribosomes {h) Lysosomes

{¢) Golmbodies () Nucleus
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PART B — (5 x 5 =25 marks)
Anewer ALL questions, choosing either (a) or (b).

Kach answer should not cxeeed 250 worda.

(@) Explain ulirastructure of Animal cell,
Or

by Faxplain different types of stains.

(a) Explain Rough Endoplasmic reficulum..
Or

(h) Write the functions of Golgibodies.

(a) Explain types of Carcinogensis.
Or

(k) Write the types of ehromosomes based on

position of ventromere,

(a} BExplain the Watson and crick model of DINA.

Or
(hy  Explain the clover leaf model of tRINA

(a) Write the significance of Meiosis,
Or
(b Explain the Triplet codon,
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